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(x) [(Sx*Cx) DAX]

(X)) [(SxD(CxV Ax)]
(x) [(5x2 (Cx * Ax)]
(x) [(Cx » Ax) DSx]

(X) [(SxD (Cx » Ax)]
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Herder Absolutism

LR e

1. Berlin Positive and negative liberty
Az, FieT THRTLHT UF AHLHF = FdT1
Kant The concept of perpetual peace
Tz ST STTTd ohl ST
Rawls The concept of Overlapping Consensus
Herder Absolutism

SRS IGECECIES
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10) Analyze the argument ‘All lizards are reptiles. No reptiles are warm-blooded. Thus, no lizards are warm-blooded.” and decide its
logical status:

gfe &1 fazawor w3 Wt fous i THgu §1 $15 T9gu T 7 T8 31 3, B foume i g T a1t 811 3R swe aifhe fRufa aa &3:
[Question ID = 4579]

1. Both valid and sound/ G} 98 Td Tg [Option ID = 18316]
2. Invalid/ 3/3% [Option ID = 18314]

3. Sound/ gl [Option ID = 18315]

4. Valid/ 34 [Option ID = 18313]

Correct Answer :-
« Both valid and sound/ SIFf 9% Td Fgl [Option ID = 18316]

11) Identify the misuse of language in ‘John must be a good man since he is a good politician.’

S T 33T S ST ANST Ffeh a8 ST IS &' 590 HYT F YT F GEUUNT B Uga B
[Question ID = 4576]

1. Accident/ ggeTT [Option ID = 18304]
2. Accent/ ¥ARTYTd [Option ID = 18301]
3. Division/ fayTH [Option ID = 18302]
4. Equivocation/ SECatn| [Option ID = 18303]

Correct Answer :-
« Equivocation/ SIECatin|| [Option ID = 18303]

12) "My grandfather was a learned man". This is a

"R greTell T [t afad & 1" 98 T
[Question ID = 4586]

1. Statement of fact/ THTHD DY % [Option ID = 18341]

2. Value judgment /e f0fg 8 [Option ID = 18343]

3. Relation of ideas /EIRRﬁ Eal W% [Option ID = 18344]

4. Non-moral value judgment / ﬁ%mﬁ'ﬂf&% [Option ID = 18342]

Correct Answer :-

13) identify the rule violated in the following syllogism:

All ghosts are scary things. All ghosts are weird things. Thus, some weird things are scary things.
fFrafafaa argfe A o - Sedes @1 tgar &1 :

W Yo serae e & 1 Tt ya shia IS §1 31, O 3reid e sRraH! I 3

[Question ID = 4577]

1. Illicit major/ &I%%{E@El—c{ [Option ID = 18308]

2. Exclusive premises/ oy YR areg [Option ID = 18305]
3. Undistributed middle / 3{IIW H&IUG [Option ID = 18307]
4. Existential fallacy/ I<T UReh qy [Option ID = 18306]

Correct Answer :-
« Existential fallacy/ Il UReh Y [Option ID = 18306]

14) According to who is Paiichasila an essential part of ethical life?

e R umRie Afew Shitaw &1 v srfFard e &2
[Question ID = 4594]

1. Both Gautam Buddha and Mahatma Gandhi/i'ﬁﬂﬂ 9 Gﬁ?w el gAY [Option ID = 18375]

2. Gautam Buddha/ﬁﬂ'ﬂ@?ﬁ' [Option ID = 18373]

3. Mahatma Gandhi/ H8TT el [Option ID = 18374]

4. Neither Gautam Buddha nor Mahatma Gandhi/ 9 GIRIGES 9 3R e HeTeT el [Option ID = 18376]

Correct Answer :-
«  Both Gautam Buddha and Mahatma Gandhi/Tidd §g 3R WA el €I [Option ID = 18375]
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(peg)vr
pvq
(p.~q.r) v(~p.~q.~r)

~(peq) v (per)

~(pe*q) v (per)
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[Question ID = 4604]

1. Positive facts/ IHRTHD qa &1 [Option ID = 18413]
2. Possible Facts/ TR{TeT q2} &1 [Option ID = 18415]

3. Negative facts/ FSeTdH® d2f BT [Option ID = 18414]
4. All of these/ IR gt [Option ID = 18416]

Correct Answer :-
o All of these/ ITRIad T+t [Option ID = 18416]

20) Metaphysics is the study of

TIHTHTET ST §

[Question ID = 4602]

1. What needs to be there/ &1 3{fard §IHT =1f8Y [Option ID = 18405]

2. What need not be there/ T 3if4arf &1 ST A118Y [Option ID = 18406]

3. What existing things are like/ TTaM Ty St & I7aT [Option ID = 18407]
4. None of these / STRIEd | ®Is 8! [Option ID = 18408]

Correct Answer :-
 What existing things are like/ TTdTH ¥JQ S % 3R [ Optlon ID = 18407]

21) A skeptic argues that
TS HAETE! 98 d od ¢

[Question ID = 4567]

1. It is possible to know after some difficulty/ 2h3°r HfE1E F a8 I IHaT g [Option ID = 18266]
2. It is possible to know after great difficulty/ a—eﬁ HfEE & a1E I Y4 % [Option ID = 18265]
3. It is not possible to know/ ST ¥d g & & [Option ID = 18267]

4. None of these / SIRIad H 18 Tl [Option ID = 18268]

Correct Answer :-
« It is not possible to know/ I ¥4d & T&f & [Option ID = 18267]

22) 22. Which of the following is false as per Aristotles’s concept of eudaimonia?

SR P TETSHIAT BT YR S AR Fafeid & § SI41 HYT 3/ € [Question ID = 4587]

1. In the state of eudaimonia people realize their capacities and are fully human/ ugﬁtﬁﬁm o1 R & AT S ermaraif &1 TgaT $Ra § 3R ‘I\FT WREY
T4 81 &1 [Option ID = 18347]

2. Eudaimonia consists in achieving greatest happiness of greatest number/@%ﬁ‘lﬁm T ffimad q9 Sferemdd T= & forg gl [Option ID = 18346]

3. Eudaimonia is a supreme human good./g}ﬂ%‘ﬁﬁﬁm e Yt AFg 3T gl [Option ID = 18345]

4. A eudaimon life consists of all intrinsically worthwhile actions/ggT8H siiad & fAfed § Hwf &1 Jured Tred & ¥0 & HR T [Option ID = 18348]

Correct Answer :-

» Eudaimonia consists in achieving greatest happlness of greatest number/@%ﬁﬁ'q'{ T 3ifiman q9 H@W Rircil % e g [Option ID = 18346]

23) Hume distinguishes ideas and impressions by their

¥ faaR 3R uerg & A $3aT ? : [Question ID = 4568]

1. Regularity/ fafiiddT ¥ [Option ID = 18271]

2. Systematicity/ FIafUAT ¥ [Option ID = 18269]
3. Vivacity/ goftaar I [Option ID = 18272]

4. Intensionality/ EEIRGEIR [Option ID = 18270]

Correct Answer :-
« Vivacity/ Gsiiadl ¥ [Option ID = 18272]

24) Who among the following is not a social contract theorist?

fFrafafaa # § 19 arfore Iusiaard! T8 ¢ ?
[Question ID = 4616]

1. Immanuel Kant/ SHIUA i [Option ID = 18462]
2. Thomas Hobbes/ 4THd §1sd [Option ID = 18461]
3. 1.S. Mill/ S. T fiId [Option ID = 18463]

A lohn locke/ S TR [Ontion 10 - 194241
- o8 +
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A problem with coherence theories of knowledge is that
IH & T=raraT Risid & a1y guwn g & :

[Question ID = 4570]

1. There are no foundations to knowledge/STH T BT B8 YR T8 & [Option ID = 18277]

2. There is no scope for justification/éﬂﬁ RG] *® Rrg %’ﬁ Eal ﬁ'sc YT :lﬁ %’ [Option ID = 18278]
3. A false theory can be coherent/Ush 3™ Rygia ot w=radar g I % [Option ID = 18280]

4. Al justification is circular/39% quf fifGeRur Tshes & [Option ID = 18279]

www.FirstRanker.com

Correct Answer :-
* A false theory can be coherent/Tdh AT Rrgid 1ﬁ SRERE ?ﬁ SE % [Option ID = 18280]

31) In Vaisesika, pramanas are accepted-

IAYp =i & yuTor TR fFA MR :
[Question ID = 4572]

1. Perception, comparison , inference, verbal testimony/Y&&, 3JHT-, 3UHI,RTeq [Option ID = 18287]
2. Perception, inference onIy/m e 3R STHTT [Option ID = 18285]

3. Perception, inference, verbal testimony onlylm &, TH 3R Teg [Option ID = 18288]

4. Perception, inference, comparison onIy/W UGE ,SIH 3R IyAH [Option ID = 18286]

Correct Answer :-
« Perception, inference only/ao_dﬁ T 3R SIHHA [Optlon ID = 18285]

32) In Prabhakara Mimamsa, the theory of error is called-
TSR Hwrar A 3R &1 Rigia seamar s
[Question ID = 4573]

1. Anirvacaniya-khyati fdatg Bmfa [Option ID = 18292]
2. Anyatha-khyati =T @A [Option ID = 18291]

3. Viparita- khyatj Taadid @1 [Option ID = 18290]

4. Akhyatj 3T [Option ID = 18289]

Correct Answer :-
« Akhyati e-r@:rf%{ [Option ID = 18289]

33) John Rawis is belongs to the political tradition of
S e o oMo WIRTA IS gU e ?

[Question ID = 4609]

1. Liberalism/ 3aRdlq [Option ID = 18435]

2. Conservatism/ ¥fedlg [Option ID = 18434]

3. Marxism/ RfaTe [Option ID = 18436]

4. Communitarianism/ ¥H&ddIq [Option ID = 18433]

Correct Answer :-
o leerallsm/ JaRdlg [Option ID = 18435]

34) Identify the fallacy in the following argument:

A THGIY B UgHH HY.

1. Fallacy of affirming consequent/ gRomyg &1 Hf@ CAkCAL| [Option ID = 18311]

2. Fallacy of denying a conjunct/ T q FABR B BT aﬁﬂ [Option ID = 18309]

3. None of these / 310 & P15 ot 78 [Option ID = 18312]

4. Fallacy of denying an antecedent/ lg\drdd‘ﬁ?[ ZIHR TR BT dbaly [Option ID = 18310]

If the gas is nitrogen, it is colorless and tasteless. The gas is colorless and tasteless.Therefore, it is nitrogen.

uﬁﬁv#@m%,awvﬁqaﬁ?w;aéﬁ%ﬁwmaﬁ?wméﬁ% 3(d:, Ug -TScIo 81 [Question ID = 4578]

Correct Answer :-
« Fallacy of afﬂrmmg consequent/ GRUTH &1 gf¥ &1 HéTc{}TN [Optlon ID = 18311]

35) Consider the following statements :
1. True premises and true conclusion together do not guarantee validity.

2. True premises alone do not guarantee validity.
3. A true conclusion does not guarantee validity. WWW FI rstRan ker com
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In a world comprising of a and b which of the following is logically equivalent to ‘(x)(Fx2Gx)’
and (I x) (Gxe~Ax)

a T b T g7 § Hofef@d # & F19 a7 70 7 7 '(x) (FxoGx)' 3T (x) (Gx + ~Ax) &
qHIA B

(Fa = Ga) V(Fb = Gb)

(Ga » ~Aa) *( Gb » ~Ab)
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(Fa> Ga) » (Fb oGb)
(Ga » ~Aa) V (Gb = ~Ab)
(Fa> Ga) *( Fb oGh)

(Ga * ~Aa) » (Gb » ~Ab)
(Fa = Ga)V( Fbo Gb)

(Ga* ~Aa)V (Gbs ~ Ab)

(Fa > Ga) #( Fb >Gb)
(Ga » ~Aa) » (Gb = ~Ab)

A ~(P>Q)

B: ~P o~Q

Which of the following is correct about the above logical pairs designated as A and B

A:~(P2Q)

B:~P>~Q

A ST B % = # AT 393iera A1 Torha SiTS1 # fHeferfed # & %19 41 9271 2

Match the following:
List—1 List—1I
a Aryasatya 1. Jainism
b. Anekantavada 2 Samkhya
c. Astarnga 3. Buddhism
d. Prakyti and Purusa 4. Patarjali
raffad & fFeme Har:
e T2
a. HET 1. SRt
b. ARG 2. |
c. ISR 3. dtg ee
d. ysid 3R qeu 4. adsAfer
abecd
2431
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The statement ‘That thou art’ is taken, from which Upanisad

T aeaaiy fa Sufug & forar man §
[Question ID = 4600]

1. Brhadaranyaka Upanisad] S8GRUG% JUMYG [Option ID = 18397]
2. Kenapan/;sad/ﬁuﬁ'ﬂ?g [Option ID = 18399]

3. ChandogyaUpanisad| Biag G'Qﬁﬂ’c{ [Option ID = 18398]

4. Taittiriya Upanisad| QfeR1g IUfAug [Option ID = 18400]

Correct Answer :-
o ChandogyaUpanisad| © g 39 E1516 [Option ID = 18398]

47) The ‘six systems of Indian philosophy’ known as ‘sad-darsana’ consists of:

‘YR 32 F o8 yonferdl’ S F 'ugeRi Hednl ¢ | gid &

[Question ID = 4599]

1. Samkhya, Yoga, Nydya, Vaisesika, Mimamsa, Vedanta/aied, THT, <1, 4R, HIAT, dei [Option ID = 18394]

2. Carvaka, Yoga, Jainism, Mimamsa, Sarmkhya, Buddhism/ Tmales, THT, Sed, HiHie, iked, s e [Option ID = 18395]

3. Buddhism, Jainism, Nyaya, Carvaka, Vedanta, Yoga/@?l@’ ‘Eﬂfr, @H‘Eﬂfr, <19, ?ﬂilﬁ, e [Option ID = 18393]
4. None of these/ ITdad H § PIs Tgi| [Option ID = 18396]

Correct Answer :-
o Samkhya, Yoga, Nyaya, Vaisesika, Mimamsa, Vedanta/ 9, TN, 1, %@W i, derd [Option ID = 18394]

48) The method of dialectical materialism is proposed by

EareT® Hifiearg @) yomeht frad grI & S 2
[Question ID = 4607]

1. Hegel/ 71 [Option ID = 18425]

2. D. Karl Marx/ STGHTR] [Option ID = 18428]
3. Kant/ &ic [Option ID = 18426]

4. Socrates/ JHRId [Option ID = 18427]

Correct Answer :-
« Hegel/ 71 [Option ID = 18425]

49) The rationalist philosophers at least believe that

gfgard! aife o0 4 oa Ay s g a1 :
[Question ID = 4569]

1. Nothing can be known from experience/ 3fJHd 9 P At &Y ST S Tl § [Option ID = 18273]

2. Nothing can be known from reason alone/ Fad qu@{ q P ot €Y ST S Tl § [Option ID = 18275]
3. Something can be known from experience alone/ 3{JHd I EEASIEIRSIRSE] g [Option ID = 18276]

4. Something can be known from reason alone/ P db g & EEASIBIRSIRSE]] % [Option ID = 18274]

Correct Answer :-
« Something can be known from reason alone/ Had b I Hl W SIGIRSIRSE] % [Option ID = 18274]

50) The central theme of Jaimini’s Mimamsa sUtra-s state:

e &1 Sk fwa §:

[Question ID = 4598]

1. Then therefore the inquiry into Atman/ ST ST [Option ID = 18391]
2. Then therefore the inquiry into Dharma/ STl Y [Option ID = 18390]

3. Then therefore the inquiry into Karma/S-fUTEﬁ FHHT [Option ID = 18392]
4. Then therefore the inquiry into Brahman/3TTall SIS [Option ID = 18389]

Correct Answer :-
« Then therefore the inquiry into Dharma/ ST Y 3131 | [Optlon ID = 18390]
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